KRGS EER SMA4FE NEEEHER BITH:SM4F98110) FES BFBEEHH

FiE | BEEOE| &S K % ER |BEnozE| ERR &5t |FERIAE
EIRTE 13 BT P HIER 1,020 3,100 4,120
EIRTE 15 =H PRAN HER 1,020 3,100 4,120
R EIRTE 16 E% L 1#% — 1,030 1,030 17,510
EIRTE 17 (E= MEH HIER 1,020 3,100 4,120
EIRTE 24 INEF EE ER 1,020 3,100 4,120
HIER 101 ray % X — 0 0
LEK | \IEE 9 i (VS 1#% — 1,030 1,030 1,030
EIRTE 6 51 A HAKER HIER 1,020 3,100 4,120
EIRTE 7 FR (LS 2 1% — 1,030 1,030
EIRTE 10 il BA 1#% — 1,030 1,030
EIRTE 11 BR BT 1#% — 1,030 1,030
Sk mIETE 12 Hir SRS 2k — 1,030 1,030 16.480
I 14 =) eI 2k — 1,030 1,030
EIRTE 18 PHR EZE 2 1% — 1,030 1,030
EIRTE 20 % &b HER 1,020 3,100 4,120
EIRTE 22 2) = 1#% — 1,030 1,030
EIRTE 23 = I EpN: 2 1% — 1,030 1,030
(PN HER 102 hE HeoE (1 atk — 3,100 3,100 3,100
NN YR 425 kA =N X — 0 0 0
EIRTE 1 T LN HIER 1,020 3,100 4,120
EIRTE 2 EAT 2 (RFE) — 0 0
EIRTE 3 A (B (RFE) — 0 0
BEKX | EET 4 R =15 (RFE) — 0 0 8,240
EIRTE 5 g7 0 HER 1,020 3,100 4,120
I 19 EH KA (X&) — 0 0
S 314 = i (RFE) — 0 0
I 8 NI thE 2k — 1,030 1,030
ERK | \B|IBE 21 5 WwE HIER 1,020 3,100 4,120 9,250
X 230 & AL E Bt — 4,100 4,100
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ARFSEERE SM4EE UESBEER EITE SM4E9A811R0) FER BEZHH
FiE | BEEOE| &S K % ER |zanoza| ZHR Hit |FERAE
. S 308 F 4R Al X — 0 0 0
S 337 g EHF X — 0 0
EIETE 26 7a)ll ERF ER 1,020 3,100 4,120
EIETE 27 BA PR ER 1,020 3,100 4,120
EIRTE 28 A0 ZF ER 1,020 3,100 4,120
EIRTE 30 tm FE ER 1,020 3,100 4,120
XEx 235 ME HERLD X — 0 0
XEx 236 A0 —X atk — 4,100 4,100
XEx 237 B HF atk — 4,100 4,100
B/ N S 322 £ SLF X — 0 0 30,880
S 329 b EJIN X — 0 0
S 332 FH e = X — 0 0
PYEL 421 iz 98 Bt — 6,200 6,200
PYEL 431 1IEN FoEE X — 0 0
PYEL 432 GEEES AETF X — 0 0
PUES 437 AR 7 X — 0 0
PUES 444 K& B X — 0 0
— PYEL 427 +H EE X — 0 0 6.200
PYE% 471 EE L7 atk — 6,200 6,200
X 220 £ EX =X — 4,100 4,100
S 304 i) =xcc) X — 0 0
S 305 A —x X — 0 0
S 313 =) ot 5 X — 0 0
" S 326 +H IZF X — 0 0
EFH - 10,300
S 328 TEC ] ETIN X — 0 0
PUES 406 SH A+R X — 0 0
PYEL 462 1IEN EES X — 0 0
PUER 464 FxH VR | =X — 6,200 6,200
PUES 465 =R JE X — 0 0
EY X 216 wH =i X — 0 0 0
S 336 BE N atk — 5,100 5,100
PYE% 420 BEE FEN X — 0 0
p— PYEL 424 i 23} X — 0 0 5,100
PUER 438 =l P X — 0 0
PUES 466 1IEN 3N X — 0 0
PYEL 476 & ER X — 0 0
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ARFSEERE SM4EE UESBEER EITE SM4E9A811R0) FER BEZHH
FiE | BEEOE| &S K % ER |zanoza| ZHR Hit |FERAE
XEx 202 A8 BET X — 0 0
X 210 =% FiE =X — 4,100 4,100
XEx 213 pNE! K ER X — 0 0
XEx 217 1% Emhic X — 0 0
XEx 224 RN &Y X — 0 0
XEx 231 Fr T X — 4,100 4,100
S 306 ME P X — 0 0
S 310 P & (KFE) — 0 0
S 319 B8 i) X — 0 0
S 323 i SR X — 0 0
. PYEL 407 +E B —ER X — 0 0
=R — 8,200
PYE% 417 HE B X — 0 0
PYEL 418 )l ERF X — 0 0
PYEL 426 2 mEE X — 0 0
PYEL 445 B E X — 0 0
PYEL 446 T R AT X — 0 0
PYEL 447 LR 5 X — 0 0
PYEL 448 ik ag NN X — 0 0
PYE% 449 WA =) X — 0 0
PYEL 452 AIRH 54 X — 0 0
PYEL 453 A =B X — 0 0
PYE% 459 LA PRIER X — 0 0
EIRTE 29 = T HER 1,020 3,100 4,120
fIER 103 BEA it =i — 3,100 3,100
S 316 N=: ] X — 0 0
S 334 R = BB X — 0 0
PYEL 405 EFi| S X — 0 0
s PYE% 416 == (S X — 0 0 13,420
PUER 439 BRI &R 2T X — 0 0
PYEL 456 E3EE) EXF X — 0 0
PYEL 461 B I5ES atk — 6,200 6,200
PYE% 467 TH FERT X — 0 0
PYEL 473 /N 7 X — 0 0
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ARFSEERE SM4EE UESBEER EITE SM4E9A811R0) FER BEZHH
FiE | BEEOE| &S K % ER |zanoza| ZHR Hit |FERAE
XEx 206 KEF JFR3E X — 0 0
XEx 209 1IES B® atk — 4,100 4,100
XEx 229 E = X — 0 0
SER 320 Nt GIN = =X — 5,100 5,100
= S 327 ZHH EF atk — 5,100 5,100 14,300
PYE% 409 ks G X — 0 0
PYEL 412 ¥ R X — 0 0
PYEL 434 il HE X — 0 0
PYE% 435 FxH 3 A X — 0 0
PYE% 460 T ®E X — 0 0
PYEL 423 W= BT X — 0 0
=k PYE% 451 /NIN 5 X — 0 0 0
PYEL 455 I MEF X — 0 0
EIRTE 25 St KER 1% — 1,030 1,030
XEx 205 el BERTF X — 0 0
X 208 AR BET =X — 4,100 4,100
XEx 211 FH e b5 F atk — 4,100 4,100
XEx 218 N EIET atk — 4,100 4,100
XEx 219 #x F1ETF X — 0 0
XEx 221 %ZH & X — 0 0
XEx 223 iz BF atk — 4,100 4,100
R fcﬁ& 227 fz& Eil X — 4,100 4,100 38,030
XE 228 B H B atg — 4,100 4,100
XEx 232 J= =7 X — 0 0
S 302 WL EX X — 0 0
PYEL 402 +H ZREB X — 0 0
PUER 415 FE FH OU—F A% — 6,200 6,200
PYE% 422 F# R ZE X — 0 0
PYEL 429 iz il g X — 0 0
PUER 450 ZH Zilkae =X — 6,200 6,200
PYEL 454 iR R X — 0 0
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ARFFSEERE S4EE MSEEHER BTH : SM4E98110) MBS BEZHE

FiE | BEEOE| &S K % ER |BEnozE| ERR &5t |FERIAE
XEx 225 aH =T at& — 4,100 4,100
SE 301 ARA X X — 0 0
SE 309 ZH HE X — 0 0
SE 318 H =#F7 X — 0 0
SE 325 A EIT X — 0 0
S 330 N E— X — 0 0

#AH S 331 @K g X — 0 0 4,100
PUES 403 R HEBF X — 0 0
PUES 404 Bt = X — 0 0
PUES 413 EE I X — 0 0
PUES 430 7133 B X — 0 0
PYE% 463 zal52 Bk (RFE) — 0 0
PUER 477 AKHR RE X — 0 0
XEx 201 AW/ OBz X — 4,100 4,100
PUES 401 HFE EX X — 0 0

NE PUES 408 fa =1 X — 6,200 6,200 10,300
PUES 410 i TR X — 0 0
PUES 474 RE EE X — 0 0
X 233 EHAE Ieh =X — 4,100 4,100
SE 312 AR AEF at& — 5,100 5,100
S 315 )1 R= X — 0 0
S 317 N 2Rl X — 0 0
S 324 =% EES X — 0 0
PUER 428 KA BT X — 0 0

Erh P EX 433 wE BT X — 0 0 9,200
U ER 436 SH R+ X — 0 0
PUES 440 B A X — 0 0
PUES 441 FMRE =7 X — 0 0
PUES 443 i Tk X — 0 0
PUES 468 7x Bith X — 0 0
PUES 472 5l 7 X — 0 0

2] XEx 204 Al 5 At — 4,100 4,100 4,100
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ARFSEERE SM4EE UESBEER EITE SM4E9A811R0) FER BEZHH
FiE | BEEOE| &S K % ER |zanoza| ZHR Hit |FERAE
XEx 203 A e X — 0 0
XEx 207 FR e BT ¥ X — 0 0
X 212 T =T =X — 4,100 4,100
XEx 214 R EF atk — 4,100 4,100
XEx 215 e e atk — 4,100 4,100
XEx 222 BE =57 X — 0 0
XEx 226 1ERk EF atk — 4,100 4,100
XEx 234 FRE &R X — 0 0
S 303 3| 88 atk — 5,100 5,100
S 307 B ERT X — 0 0
S 311 e/ mF X — 0 0
AtE SE 321 RE Bx X — 0 0 40,100

S 333 il BT X — 0 0
S 335 ME HF X — 0 0
PYEL 411 25 )= X — 0 0
PYEL 414 M F X — 0 0
PYEL 419 A H BEX atk — 6,200 6,200
PYEL 442 e BT X — 0 0
PYE% 457 FH E—8A X — 0 0
PYEL 458 piiic BT atk — 6,200 6,200
PYEL 469 ic] 2} EK X — 0 0
PYE% 470 1IEN I X — 6,200 6,200
U ER 475 AEEE A & X — 0 0
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